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Part-A (3T71-37)
Compulsory Question (tfard uys)

Note — Auempt compulsory all ten objective type questions
of 1 mark each. (in MCQ/True or False/Fill in the
blanks) :

gyl @ AHaE IEfe yvA &ifSu) gas 99 |
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I. (A) (1) Which of the following does not come
under the scope of Macroeconomics 7

(a) Inflation
(b)  Growth dnd Development
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(i)

(c) Partial equilibrium

(d) Monetary policy

frfafaa § #AE gaftz-A49ma & 45
q el s ?
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(9) wifs |qer

(7) #ifsaw ifa

According to Keynes, money performs the

function of :

(a) Store of value

(b) Medium of exchange

(c) Both (a) and (b)

(d) None of these
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(iii) Consumption of a person depends on his

............. income. (Actual/Disposable)
Us Al &1 YU SHET oo, _qY I
fasdft war ®1 (ar=ifeass /g )

(iv) Autonomous investment is made by

[ : (Government/Public)

' (v) The value of money and general price

[EVEL - MOVES TN ..coiiiamsanes direction.
(Same/Opposite)

q5l 1 eI dYl WHA HiAd EOH

...... feen # =wem e €1 (wh 2/ faadia)

(vi) When aggregate demand = Aggregale
supply, this is point of ............ .

(Full employment/Unemployment)

(8 ) Turn Ove



(vil) The classical theory of employment regards

saving as a funcuon of income.

(True/FFalse)
ISR &1 qOqETe) fagid s=a i A
®AT HEA ¢ (gea/ 3T A )

(viii) The formula for marginal propensity (O

AC ,
consume : MPC = AY (True/False)

da= sewm o wgfe w1 o §F @

A
MPC = A—Yl (gc/39A)

(ix) Full employment is a situation in which
no person is employed. (True/False)
gui o T UE feafa @ fomd o
AfR SIS A8 2l | () FHA)
(x) Keynes regards saving as a social vice
and private virtue ? (True/False)
sl 99i¢ bl Weh HHISh qUs aur i
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Note i~ Attempt any four Short Answer Type ngsu(mg,
Each question carries 5 marks.
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t (B) (i) Differentiate between Induced Investment

and Autonomous Investment.

S fam qmn w=ds feEe 8 5@ amn)
(i) Show that APC + APS = | and MPC
B MPS = 1.2
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(v) Meaning of National Income.
%1 14 FaRLl §5%4=20 . D
g Ad 7
Part-B (¥T-%) ~ 2
Note — Attempt any one question from each Unit. ¢
Y% T 9 Hiz Tk I Hifed |

Unit-I (3&13-1) 10 each
2. What is Macro-economics ? Explain the major issues -
- Pl

INn Macro-economics. .
, gufte seferey w7 ¥ 7 mefe sdwme % HEF TE

&1 FUH IS |
Or (3F¥ar)

3. Explain the output method of measuring National

Income. Discuss problem of double counting.
TS AE H 997 # SqrE fafy w1 g @ifen)
A TUAT HI GEHET H TE HIfeU |
Part-C (4T1-%W)
Unit-I1 (3&TE-11) 10 each
4. Critically examine the classical theory of Employment.
jﬁmﬁz F e fogm W st st
|
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Or (3724

=20 Define Effective Demand. How does it determine the

ich

level of employment ?
yE HI F T § 2 e g AR & T
Part-D (¥T1-3)
Unit-T11 (3shre-111) 10 each

_ State and explain the Keynes's psychological Law of

Consumption.

3= & S9N ® THEAE EE & U i
Or (ml)
What is Marginal Efficiency of Capital ? Explain the
Short-run and Long-run factors which affect it.
st =t Hmm, Seehd I Fn by g 7 A
SeqETeT 3§ Sgweid qal S e &iteg S W
7z flt +d@t T
Part-E (9T71-3)
Unit-1V (?E‘lg—l\’) 10 each
What do you mean by Credit Creation ? How do the
commercial banks create credit ? State the limitations

of credit creation.



areg famfor @ 3AT9R1 4 sfagrg & 7 AWRE d
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gfegtard. Sdrgl |
Or
(319ran)
9. Discuss the liquidity preference theory of Interest.

=S F waa sfvmE fagia #1 faasar sifsu
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